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import sys
reload(sys)

sys.setdefaultencoding('utf-8"')
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+ TR—LD bash_profile [CLITD XS IC

export LC_ALL=ja_JP.utf-8
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- XEEPILTETT
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S>> ([EPython OXY Y N 7OV~ (iS5 RRE

A
EENN
]

S python

>>> print('hello!")
hello

>>> exit() Ry
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S python hello.py
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>>> dimport math HNFEZATZ)%ZFBAEREICT B
>>> math.e math.e Z&FH
>>> 2.7183281828459045

- fromERIEETA T URZERTES
>>> from math import e math.ez 1 >/RK—k

>>> e math.eZz sl (mathlIEHEET

° }%IIJ%T‘@anﬂl_ﬂ
>>> import math as m math Z m CWSHFITA VR—

>>> m.e math.eZz 5
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- %Tﬁéﬂ‘jﬂ] (%s 75, %d B, %f

print("e=%f log(e)=%t" % (math.e,

e=2.718282 log(
print ("%s %s" %
Hello Wor Ld

e)=1.000000
("Hello","World"))
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math. log(math.e)))
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>>> X = 60

>>> 0 <= x and x <= 100 XDOLLE100LLTF
>>> True

2B (~F/zld~) : or

>>> x < 0 or 100 < X XDOLID/NTIWVEIFI00L D AT
>>> False

BHE (~T&W) : not

>>> not x < 0 XHOKD/NE <7220
>>> Jrue
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strl
str2
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UnicodeX =%l (Python2® #)

- YILFINA M XFEY] (HARZELRE)
- NFHDFIIC U ZEDITS
text unicode = u'BAEXFF'

. unicodeX F5 & strd F5 D Z i
- unicodeX FAFl — strF4l

text _str = text_unicode.encode('utf-8")
. StrXXFF — unicode X F%/)

text _unicode = text_str.decode('utf-8')

\\ D w
* /i/%\

- AR DFREUTF-8TRZL U festrd F5IANR L




JAN - Z T

I




J AN EYTIL

- IEEETULSO L

R ~—

Z 5 DECY

- JSIEUERRS

- UK~ ]
- [EDRADE]

- BX0DENIH

- I ()

DEZ AND I ENHED

SRDNPIEE

- [BEOMRATRE
- BT D 5|

= DEM - BIFRIFZ T= 7400
EOEREICFHIAEINS




AN

> > >
> > >
> > >
> >
> > >
> > >
> > >
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listl = [ ]

list2 = [1, 3.14, "hello"]
Llist2[1]

3.14

Llist2[—-1]

"hel Lo"

list2.append(3)

Llist2

[1, 3.14, 'hello', 3]
List2[3] = "world"

list?2

|1, 3.14, 'hello', 'world']
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>>> tuplel = () # ZZDR TSI = ERK

>>> tuple2 = (1, 3.14, "hello") # EBOA>7Z TILZ/EM
>>> tuple2[1] # 2BEHDODERZFH

>>> 3.14

>>> tuple2[-1] # BANDHIFHDERZFH
>>> "hello"

>>> tuple2.append(3) # XTI ORRICERZIE
>>> Traceback (most recent call last): <-—— ILo—

File "<stdin>", line 1, 1n <module>
AttributeError: 'tuple' object has no attribute 'append'
>>> tuple2[1] = 3.1415 # XTILDERICAA
>>> Traceback (most recent call last): <-—— Lo—
File "<stdin>", line 1, 1n <module>
TypeError: 'tuple' object does not support 1tem assignment
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> >
> > >
> > >
> > >
> > >
> > >

dicl = {}

dic2 = {'a':1,
dic2|['a']

1

dic2|['c'] = 3
dic2.keys()

[la 'C', 'b':l
dic2.values()
(1, 3, 2]

del dic2|'a']
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- whileX | £EIHEEESNTWBREEDIRT

- forXX : UM - Y FI)ILEHINST DT DODEDOEHT




forz{E > I EBIR 74X

ZEDIED R L
for 1 1n xrange(10000):
print('i = %d'%1)
S D G 7% B 5

for key in dic.keys():
value = diclkey]
print('key:%s value:%s'%(key, value))

FEICESDEDOHZ U A NCT S
list

[ (p.x, p.y) for p 1n locations if p.valid == True]
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- BEAMEEIL def THH S
- {BlE return TR

def add(numl, num2):
result = numl + num2
return result

 INED S5 ST BUE T TILE LT MFE5|HTESE NS

def f(a, *xargs):
print('a = %s'%a)
1 =0
for v 1n args:
print('args[%d] = %s'%(i,v))
1 += 1
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>>> def f(*xxkwargs):
for key i1n kwargs.keys():
value = kwargs|key]
print('key:%s\tvalue:%s'%(key,value))

>>> f(a=1, b=2, three=3)
>>> key:a value:l
key:b value:?2

key:three value:3
>>>



